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RAMAKRISHNA VT!'EKANANDA MISSION
ADMISSION TEST - 2O2O

CLASS-VI
SUB-ENGLISH

Time : 40 Min. RM":25

'1. Write the Bengali meaning of the following words (Any 3) :3x1=3

Cricket, dewdrops, communities, motherland, listened.

2. Write the English meaning of the following words (Any 3) :3x1=3

Costume, Skull cap, embroider, Wee, Whistle.

3. Write the opposite words (Any 3) : 3x1=3

Screech, adult, Freedom, Largest.

4. Make Sentences (Any 3) : 3x1=3

Turban, lndependence Day, Dress, Language.

5. Fill in the blanks with correct forms of verbs given to
brackets '. 4

i) Yesterday we (see) him.

ii) Moloy (take) tea. (Use Present or Past Continuous
tense)

iii) Shrijita learn a lesson. (Use Present Perfect Tense)

iv) We meet him tomorrow (Use Shall or Will)

6. Translate into English , 4*1=4

i) s[fr 6qq6a ** {Fsl{(mEI) |

ii) 6c sInt{TEq qsB q& e[{Rq r

iii) qfi cqfr-qfrmfrqQr

iv) qI-?[etcc<t{ffi,lft{l<tl

7. Write a paragraph on "The Durga Puja". 5
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SUB-MATHS

Time : 40 Min.

1. c{ ast{ sEgc$<Uq<qtg e

s) 40Gs< 1% =$s?

q) AEos{ti-tsfrs<cqr Eqp<qn.. t

't) 1 {iTs\5frR',fidN?

!)-lEqfi-lrq{qd{+?

s)vtois< zfi+ sa
'7

E) e6i:s-n 2.;Ox 15

2. C{ CSl4 Sfr gcr<Es< qtrs :

T) 7.25 fibk qst .csB -fl.t cqta 27.s (sfifr';t-< est q-$fr !r[-<I
EEN +< qt< +s fiEf<,if.t "W. 

qrcm z

{) 48 tr$t 8OO ErsK $5?F{t Ss ?

5t) ssB c(?[l{ 1 s%-qK T1;I 7.5 qrf,, & qi"BIB< I o% $s Etrr ?

oa

s)sqo{s 4.,*.rh
E) frrrn +.{ s 1 frfr$t 7 frdI - 10 ftdt 625 dE r

3. C{ ml{ 2Bef{f{EE-dql\e z 4P=8

T) q$q-{ qR-$'q-s€sen 6a6a1B1+r<aGfrq toffi 16mK"Ft
qBer q-<rc EIsIFH | 21 fi-{ q&tm EaiR "l{, ulir $sW{ cqra
5ooooo ffiF EfiffqIff{ cfiqTg qr ql{ ae,lq ffi alls6< e

F.M.:25

1x5=5

2x5=10

2023



:i) mf+ {ftwm qTa qftTftk eO./" qfqk<tGlrrr, 85% qlq qr6 (<i
750lo qlo Evs ftlrT E-6{q< r Esr RscR q{0"1.qtr-eK crfi a5 sr
qrq, clEqsweE {ftFfffidr

'r) 
ssfi fu< ?Ed s ffi gao ffiR r EEr 1 243 fiEET lxt EIEI, 1 547

ffiK qrt frq, szg ffir< s<.t x{q q{i <tfr s\.t qn <cs{ | eq?

,q<rt<ffi'+sl

4. ,FU-E|{'F6tF{3

a) llr+Ift frwq< qTmIc.I* R"IftE <Tqg 4N

?t) fry-rw{ a{t-rt s Euot qql;r 
t

{) wfu Eftf}rT[T'{ qrrrfs<tEi <fqa''{

s) lt\g-{ T{qr (rlT-€T 4F

1lrx4=2


